Sidewalk Patterns

In Prague some sidewalks are made of small square blocks of stone.

The blocks are in different shades to make patterns that are in various sizes.

Pattern #1

Pattern #2

Pattern #3

Draw the next pattern in this series.

Pattern #4
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1. Complete the table below

Pattern number, n 1 2 3 4
Number of white blocks 2| 40 | QY |4y

Number of gray blocks B U135 1Yy 5 }%& ]
Total number of blocks 25 | gl 169 &% Uy

2. What do you notice about the number of white blocks and the number of gray blocks?

cAmore_giay Wk than Wi bIgk .

3. The total number of blocks can be found by squaring the number of blocks along one side of the
pattern.

a. Fill in the blank spaces in this list.
<2 pa

25 = &2 g1 = 4° 169 = (3 289 = 172

p] ,
b. How many blocks will pattern #5 need? A7 0of Y \'“

1
c. How many blocks will pattern #» need? (_L'i N+ 0

4. a. If you know the total number of blocks in a pattern you can work out the number of white
blocks in it. Explain how you can do this.

LUt 0Q A from the datal number orclthe N

&

all iide thelt \0\3 A

b. Pattern # 6 has a total of 625 blocks.

.
How many white blocks are needed for pattern #6? > 12 \Q) OCK g
Show how you figured this out. )
&*’” ‘;;‘"“‘“ = 312
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Sidewalk Patterns

In Prague some sidewalks are made of small square blocks of stone.

The blocks are in different shades to make patterns that are in various sizes.

Pattern #1

FBE
Pattern #2

Pattern #3

Draw the next pattern in this series. A

F.A

——
,—’:9

o : ! H

Pattern #4
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1. Complete the table below

Pattern number, n 1 2 3 4

Number of white blocks 12 0 |54 |1 44

Number of gray blocks 13 | Z‘g g 9

Total number of blocks 25 ¢ 6 6} 7§ q

2. What do you notice about the number of white blocks and the number of gray blocks?

Ho 61(4/54 = it 1|

3. The total number of blocks can be found by squaring the number of blocks along one side of the
pattern, _

~ a. Fill in the blank spaces in this list.

2 2

5= 2 g= A 160 = | % 289 = 17
z
b. How many blocks will pattern #5 need? (Z— (
) 2
c¢. How many blocks will pattern #n need? (q' N+ |/ -

4. a. If you know the total number of blocks in a pattern you can work out the number of white
blocks in it. Explain how you can do this.

|
X + %)=+ 0 X="5

o

2rey Zwhii€ t) S0 Gidm) Tt e <totel

b. Pattern # 6 has a total of 625 blocks. -
How many white blocks are needed for pattern #6? 5 I 2 VJ]M Pl e
Show how you figured this out. _ ol U-17=
A¥ A+l = 625

2 A+1=625

2x=2¥

- 212
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Sidewalk Patterns

In Prague some sidewalks are made of small square blocks of stone.

The blocks are in different shades to make patterns that are in various sizes.
T

Pattern #1 T T
L eI PR ;
Pattern #2 -
1\ 1Y
Pattern #3
T 4
Draw the next pattern in this series. % Lo ’Z‘\
3o
Pattern #4
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1. Complete the table below

Pattern number, » 1 2 3 4

Number of white blocks 12 | 40 bod q 14 4
5T

Number of gray blocks 13 4\ &5 | 65

Total number of blocks 25 3 \ ! (p | el

2. What do you notice about the number of white blocks and the number of gray blocks?

fuet] T vebire A

3. The total number of blocks can be found by squaring the number of blocks along one side of the
pattern. '

a. Fill in the blank spaces in this list.

] 1
5= 5  g1=_4A° 169 = _|% 289 = 17
s
b. How many blocks will pattern #5 need? 2\
.
c. How many blocks will pattern #n need? ( “4n 4 | )

4. a. If you know the total number of blocks in a pattern you can work out the number of white
blocks in it. Explain how you can do this.

Y e Slgdyek U Lo Bt Yoalal # end Yhen 2

e

b. Pattern # 6 has a total of 625 blocks. 5 ‘
How many white blocks are needed for pattern #67? 23\ whete b\ ock S
Show how you figured this out.

(g~ b 7 lraz2 = 3\
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Sidewalk Patterns
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In Prague some sidewalks are made of small square blocks of stone.

The blocks are in different shades to make patterns that are in various sizes.

Pattern #1

Pattern #3

Draw the next pattern in this series.

Pattern #4
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1. Complete the table below

Pattern number, » 1 2 3 4
Number of white blocks 12 40 | B4 | 144
Number of gray blocks 13 4 %‘5 145
~ . \
Total number of blocks 25 2 \69 289

2. What do you notice about the number of white blocks and the number of gray blocks?

THRIe 1 alwdys \ more Qvdy hahn 4 Waite Wock

3. The total number of blocks can be found by squaring the number of blocks along one side of the
pattern.

a. Fill in the blank spaces in this list.

5= 5 gl=_9 169 =_\%  289= 17 \ J(pt]
( S
b. How many blocks will pattern #5 need? 2 “ 7% 4 | 27
4 17
c. How many blocks will pattern #»n need? 4“’) 1 I \O\DC¥S g 2 ]

4. a. If you know the total number of blocks in a pattern you can work out the number of white
blocks in it. Explain how you can do this.

# of wiile \docks = (oig) % of \dock-\)ﬂ

b. Pattern # 6 has a total of 625 blocks.

How many white blocks are needed for pattern #6? '%\ 2 W‘Y’\-\C \)\Od-'s
Show how you figured this out. —2
w = (YoYa) )T

w=(62G-))+
wE 242
W 3|2
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Sidewalk Patterns

In Prague some sidewalks are made of small square blocks of stone.

The blocks are in different shades to make patterns that are in various sizes.

Pattern #1

Pattern #2

Draw the next pattern in this series.

el

Pattern #3

Copyright @ 2011 by Mathematics Assessment
Resource Service. All rights reserved.

Pattern #4

Page 8

A
m\zd
«

Dadh o

ély

+ gl&
(45

e 4 = ey,

CCRS



1. Complete the table below

Pattern number, » 1 2 3 4

Number of white blocks 12 40 s |4y ’ 5
Number of gray blocks 13 Ly 2s 45 s 9
Total number of blocks 25 7\ 164 | 29

2. What do you notice about the number of white blocks and the number of gray blocks?

The gray blocks always hawe ' mare than the white blocks

3. The total number of blocks can be found by squaring the number of blocks along one side of the
pattern. :

a. Fill in the blank spaces in this list.

25 = 5 81 = q* 169 = _[3* 289 = 172
b. How many blocks will pattern #5 need? 444 blotks
c. How many blocks will pattern #n need? J\ hey ﬂ)z

4, a. If you know the total number of blocks in a pattern you can work out the number of white
blocks in it. Explain how you can do this.

_ You Can ust Hhe ¢quation x*(x+)" the doka ¥ ef biocic.

%x will e dhe # pf winte blocks.

b. Pattern # 6 has a total of 625 blocks.
How many white blocks are needed for pattern #6? 312 \vhite blocks
Show how you figured this out.

IS SRR ) NS

2x 62N

(R AP
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